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https://geeksvalley.com/en/tutorial/parking-sensor/
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https://geeksvalley.com/product/ultrasonic-sensor/
https://geeksvalley.com/product/ultrasonic-sensor/
https://geeksvalley.com/product/diffused-led-5mm-green/
https://geeksvalley.com/product/diffused-led-5mm-blue/
https://geeksvalley.com/product/diffused-led-5mm-red/
https://geeksvalley.com/product/74hc595-shift-register/
https://geeksvalley.com/product/piezo-sounder/
https://geeksvalley.com/product/220-resistors/
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https://geeksvalley.com/product/arduino-uno-r3-atmega328/
https://geeksvalley.com/product/arduino-uno-r3-atmega328/
https://geeksvalley.com/product/a-b-usb-cable/
https://geeksvalley.com/product/full-size-breadboard-830/
https://geeksvalley.com/product/full-size-breadboard-830/
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https://geeksvalley.com/product/jumper-wires-male-male/
https://geeksvalley.com/product/jumper-wires-male-male/
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int
int
int
int
int
int

IC Pin 10,
Pin 16

Pin 11 IC Pin 11
Pin 12 IC Pin 12
Pin 13 IC Pin 14
1st LED IC Pin 15

2nd - 8th ICPin1l-IC
LEDs Pin 8

Vcc

e suall gl @L...Jl U (Anode) wea gall ¢ 32l shift register Juws gi oy : iasde

: (Ultrasonic Sensor) 4 | 58 wla gadl  ywlin

5V+ VCC
Pin 10 Trig
Pin 9 Echo
GND Ground
:Buzzer Jiwogi

GND Shorter lead

Pin 4 Longer lead
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tonePin = 4; //Tone - Red Jumper
trigPin = 10; //Trig - violet Jumper
echoPin = 9; //Echo - yellow Jumper
clockPin = 11; //IC Pin 11 - white Jumper

latchPin = 12; //IC Pin 12 - Blue Jumper
dataPin = 13; //IC Pin 14 - Green Jumper

byte possible patterns[9] = {
B00O000O0O,
B00OO0OO1,
B00OOOO11,
B00OOO111,
BOOOO1111,
BOOO11111,
B0O111111,
BO1111111,
B11111111,
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https://geeksvalley.com/tutorial/arduino-lesson-5/

I 7

int proximity=0;
int duration;
int distance;

void setup() {
//Serial Port
Serial.begin (9600);

pinMode(trigPin, OUTPUT);
pinMode(echoPin, INPUT);

pinMode(clockPin, OUTPUT);
pinMode(latchPin, OUTPUT);
pinMode(dataPin, OUTPUT);
pinMode(tonePin, OUTPUT);

void loop() {
digitalWrite(latchPin, LOW);
digitalWrite(trigPin, HIGH);
delayMicroseconds(1000);
digitalWrite(trigPin, LOW);
duration = pulseln(echoPin, HIGH);
distance = (duration/2) / 29.1;

proximity=map(distance, 0, 45, 8, 0);
//Serial.println(proximity);

if (proximity <= 0){
proximity=0;
}
else if (proximity >= 3 && proximity <= 4){
tone(tonePin, 200000, 200);

}
else if (proximity >= 5 && proximity <= 6){
tone(tonePin, 5000, 200);

}
else if (proximity >= 7 && proximity <= 8){
tone(tonePin, 1000, 200);

}
shiftOut(dataPin, clockPin, MSBFIRST, possible patterns[proximity]);

digitalWrite(latchPin, HIGH);

delay(600);
noTone(tonePin);
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digitalWrite(trigPin, HIGH);
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delayMicroseconds(1000);
digitalWrite(trigPin, LOW);

HIGHz ,Li¥! <&y 8as oluwa o1y ((Echo Pin =HIGH Level iad mpaiw) )laiiwd! 5la ‘,LJ Lo puna e iU i 13]
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duration = pulseIn(echoPin, HIGH);
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distance = (duration/2) / 29.1;
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